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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C — Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Complete the following table with correct information for A and B : 1
Annual Rainfall . Ten'lperatul:e
. Climate required for its
Sugarcane required .
growth (in degrees)
Crop
Hot and
A-? B-?

Humid

2. Give one example of the main commercial crop cultivable in laterite soil. 1
OR

Give one example of the Community Owned Resources. 1

32153 Cihibe o P.T.O.
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3. fTfafaa & @ o1 v =it & 1 3am 2 2 1
(A) #i.w=.3.vd. (BHEL)
(B) &I (TISCO)
(C) 3A.3E.TA. (OIL)
(D) ¥ (SAIL)

4,  Tufem yg =1 smfeaser fore fomam om 2 1

AT

e SraTedt % SN, $ect H gesclich dTell BUTE shi qehieh b1 M hid oIl
T ? 1

5. 1930 § ©f. «I.3TN. 3TgH gl cfeldi o U 18 T8 UEIEUUSE 1 9™
fafem | 1

6. T=faRad s 1 ¥8 L, g fRaT : 1
g TS 91l (.78 W) T TS TS o Aged H g3 |

7. F9N fhe % @d H HN WA %k FY H 9gd A AWGH W HM Kl @ |
ITEHF SR US4 W AT IR § forlt aurie W @9 w1 & e ot 38 &
AT gSdT B | e 38 5 gfderd ATfieh ST ot 9 kW 2T B | adAE § 3
&t % T 5,000 % |

S & TS RO FGEAT k1 foveryur hifsre | 1
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3. Which one of the following is a private sector industry ?

(A)

(B)

(©)

(D)

o
T

~

BHEL

TISCO

OIL

SAIL

4. Who invented the Printing Press ? 1

OR

Who brought the knowledge of woodblock printing technique to Italy

during the 13th century ? 1

5. Name the association formed by Dr. B.R. Ambedkar for Dalits in 1930. 1

6. Correct the following statement and rewrite it : 1

Bahujan Samaj Party (BSP) was formed under the leadership of

Mayawati.

7. Krishna is working in a neighboring field with very less wages. Expenses

on sudden illnesses or functions in the family are also met through loans.

The landowner charges an interest rate of 5 percent per month. At

present she owes the landowner ¥ 5,000.

Analyse the credit arrangements given above. 1

321503

|_htipsi/byjus.com_| 25y


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

8. = @ WA fou mu § f9=8 gehed (A) 3R HWU (R) & &9 # fufea feram mon
2 | ST i Ufeu R Tl foehed &1 == FifvT | 1
ZEFIT (A): WA H THR fopaml ¥ A qod W 717 3R F6a @ligd! 2 |
RO (R):  HESIeh &5 3eies forepra ©f e <ar @ |
fa&ea:

(A) (A3 (R) AT 9&l § 3 (R), (A) T Tl =ame 7 |

(B) (A) 3R (R)THI €&l 7, W=q (R), (A) ! Hel AT 78] & |
(C) (A& 2, 9 (R)Ted 2 |

(D) (AT 8§, W (R) €&l 2 |

9.  YRd T IRl o hIhi o TaY H &l HAF I TIT hiNT : 1
I.  uiEed Wenfieh 3§ gan |
1. foceft =R o faesht frasr w1 I |
1. fofaa <or & gor § 9Rd o i fova SR @ed & 31gga e |
Fra feu U e O @ Tt foshed w1 T it
(A)  had IR II
(B) hael I3 III
(C) whad II AR III
(D) e I

10. f&F T i gfd Hifs 1
Id | wHa fose gaeis (Ta.81.3T8.) o1 &R % mew 9
U AT Hehal 7 |

11. YRA § ST ATEYT ! IEAR T T HIg Th U FATST, | 1

12. WRA H WThfdeh 19 % ITANT i S¢H I HI3 Th U ST | 1

13. YA ¥ T yemed | afgarst i foran gfasa steer fean siar @ 2 1
SreraT

Id B Y TS § U=Rd 3T TRATietsh! IHATE hiH o fofu shia-ot Tem sHrs
TS 7 ? 1
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Given below are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option. 1

Assertion (A):  The Government of India buys wheat and rice from
farmers at fair price.

Reason (R) : Public sector contributes to the economic development.
Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Choose the correct statement about factors regarding globalization in

India : 1
I. Improvement in transportation technology.
II. Liberalization of foreign trade and foreign investment.

III. Favourable rules of WTO towards India in comparison to
developed countries.

Choose the correct options from the codes given below :
(A)  OnlyIandII

(B) Only I and III

(C)  OnlyII and III

(D) Only III

Fill in the blank : 1
Human Development Index (HDI) level in India can be improved through

Suggest any one way to improve the postal system in India. 1
Suggest any one way to enhance the use of Natural Gas in India. 1

What percentage of reservation is given to women in local administration

in India ? 1
OR

Which institution has been created in each State of India to conduct

Panchayat and Municipal elections ? 1

32153 Etisea s P.T.O.
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T s 1 gfd i -
aygfTeh YA § Sfd sl TCadT 3R F1id o § i 9gaE 7R § Fifh
|

AT

IR Ffae™ gyt arTient 3R ageri o fohell oft o 1 9o i 3R T=R
S S ATATET <A1 & TR |

d= few U foeredt 9 9 Gfoaw a3 Serem § sienfies gfient < M-urfier
% 3fua SRV H ggEH T |

(A) TR S o Hid 9

(B) 3! I 3% T Ao TedTlerd fohan

(C) o fogsht 9mM & sfgshr & Jfd Af=g® o

(D) HHISETE 1 foehm

high g & o Tovgeadt yomaibe ot amifses ws w1 w@w |
TIGAT shl AT o Hawd sh! Tg hIT |

HTsHT HHITE WA | =1 3 o 2 Fefeifad faemedt 7 @ 92 ror 1 9g=H
HifS |

(A) 3T o faeg gl § AfEmE v fafa =@ & fao

(B)  3TUS & HHHN W &H <4 & U

(C) YA H 8% T hl AT HH o T

(D) YA § T T i Hriiel § ufadd & gama ¢ @ o

TS A HIgT T ¢ Jeh1ierd ferdre =61 9 fafigu |

ST
‘7T g ferdte & i@ 1 A fafiay |
AETE Sme 1 3T1ffer forehr o1 his Uk Serew fafgu |
frafafea & & @& gufaa g 1 === i .

(A) 3 9 fomes —  SEA

(B) SiforRH T

(C) =gou Wefedl — %M

(D) §& T — 3l
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14. Fill in the blank : 1
Castes and Caste system in modern India have undergone a great change
because
OR
The Indian Constitution provides to all individuals and communities
freedom to profess, practise and propagate any religion because
15. Identify the appropriate reason from the following options, for the
non-participation of industrial workers in the Civil Disobedience
Movement. 1
(A) Industrialists were close to the Congress
(B)  British offered them good salaries
(C) They were reluctant towards the boycott of foreign goods
(D)  Growth of Socialism
16. Examine the significance of the Statue of Liberty in Frédéric Sorrieu’s
paintings, ‘The Dream of Worldwide Democratic and Social Republics’. 1
17. Why did the Simon Commission come to India ? Identify the correct
reason from the following options. 1
(A)  To control the campaign against the British in cities
(B)  To look into the functioning of the British
(C)  Toinitiate salt law in India
(D)  To suggest changes in the functioning of the constitutional system
in India
18. Name the book published by Raja Ram Mohan Roy. 1
OR
Name the author of ‘Amar Jiban’. 1
19. Give any one example of economic development in dictatorial regimes. 1
20. Choose the correctly matched pair from the following : 1

(A)  Otto Von Bismarck — Germany
(B) Napoleon — Spain
(C)  Giuseppe Garibaldi — France
(D)  Bourbon Kings — Italy

| .32/5/3] Chibe o P.T..
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Qs @

Y o foaR o A § T&h(d 4 Tk 3780 qiHe frl TR FWTE ? forgdl
IMATeE! o JUARH EHMHETE o Ted H 8 HINT | 3

“Gfiet gaR Sfia & ufEe am 8 17 389 wed I el |fgd gfie fifvw | 3
3T
“@f S o T 1 9T STd § |7 38 A hi IS0 Afgd gve i | 3

= fou T 35T i dfey 3R 38k A U T el @1 3T SN 1+2=3
SHEd v 1 yESId | oifiieh THAll I ookt Fgdl Wl SR TH o |
AAAA T el T § d @ Sg@El ¥ Ed gy, uH
HOI-3T AT U= T A | F© Al WISl Qd-Narsii 6l STer=H1 Hid 84
I YR ATEd ¥, JTEfh $S AT TUIS-JUNhI o qohl b gaTh @ o | I
R are-ferg e 4, stemm ufeqs o g | B g8 geaemratl ofR oTeew o
shad U fomml 1 TER-gER fa, dfeeh 3R 98T 6w Wt 9F h | A
Sl | =TI H-aggE ot feen of Wehar o, 319 Ta Wit L Tehdl AT | 39
TE o HA-AATR ¥ T foar W | I8 98 999 o1 9 TS 3T gH-gumehi a
g wleantcal o 9 fouar-3E, Thyatars, Sa qoan 3R qid-qen 9
HE 1 TR ISl 89 31 83 ofl | S H HH-SE F8H =ell, TGN Sedl d1erg
H qReqeRIst 3R SR % JANY TE-ME h qeh AU o s 3 TR | TG
Y TGN AN qoh Gga o AT § $wa 3T Serael hl Wil § S1a1 74T |
(23.1) =i TEA! W g3 989 o FhEl] Th T I foweyor HIT |

(23.2) 37 wgdl | Tiie #fifgen 61 yfiew i w@ Hif |

A | Tl I g 61 Fohegi o1 fomivaredi 1 Seo@ i | 1x3=3

W | godre i forgl 9 foRiaarst =1 Scai@ ity | 1x3=3

AT ST fohe YRR HET o HEwUl A&Ull i HHT(ed [T BT @ ? I8 SHIWT | 3
YT
YRSl SUR ad AT A RUMYR hl AT ] hid 3 ? T hifaY | 3
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SECTION B

21. How did culture play an important role in creating the idea of the
nation ? Explain in the context of European Romanticism of the
nineteenth century. 3

22. “Minerals are an indispensable part of our lives.” Support this statement
with examples. 3

OR

“Minerals occur in various forms.” Support this statement with examples. 3

23. Read the extract given below and answer the questions that follow : 1+2=3

From the early nineteenth century, there were intense debates around
religious issues. Different groups confronted the changes happening
within colonial society in different ways, and offered a variety of new
interpretations of the beliefs of different religions. Some criticised
existing practices and campaigned for reform, while others countered the
arguments of reformers. These debates were carried out in public and in
print. Printed tracts and newspapers not only spread the new ideas, but
they shaped the nature of the debate. A wider public could now
participate in these public discussions and express their views. New ideas
emerged through these clashes of opinions. This was a time of intense
controversies between social and religious reformers and the Hindu
orthodoxy over matters like widow immolation, monotheism,
Brahmanical priesthood and idolatry. In Bengal, as the debate developed,
tracts and newspapers proliferated, circulating a variety of arguments.
To reach a wider audience, the ideas were printed in the everyday,
spoken language of ordinary people.

(23.1) Analyse any one issue of intense debate around religious issues.
(23.2) Examine the role of print media in these debates.
24, State any three features of Rabi cropping season in India. Ix3=3

25. State any three key features of federalism in India. Ix3=3

26. How do demand deposits have the essential features of money ? Explain. 3
OR
Why do lenders ask for collateral while lending ? Explain. 3

32153 Erhiite o P.T.O.
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27. Tafagarst i a9 3 § dfcsd & Aled o awdl ol dUF hifg | 3
HUAT

a1 bl greer) 1 &fas y=afad Tew w1 9uF ki | 3

28. HEd TW W A &7 hl gad g o-H o T HiE o U™
IR I1x3=3

Queg T

29. = feuw U GGl ) ufeu 3t 319 gefid gt & I fafigu 1+2+2=5
HId A — FTRTUT 3TR HRAT STeTaeaT

IS o fova ®, IUYIAT & &9 H 89 U ° $S o A9 I&gll 3R Faied &
foega faspew € | fava & Sfifey fafmtaet gro i fefea Fm, dema
% 3R efifasH & Tdfivan ufsa AR fofe oy & | 309 9aRd i Tgh W
e < T Higd ¢ S Fehd ¥ |

ard B - fagyft SR iR STeRT 1 Uehiehtur

faeft samam =i SR AT A G b SN Y AE b NN H Gge h
T IcuTEeR! Rl Tk ITEH UM KAl § | ITCh hadl 394 < o S0 | &l
39 IcUTE el 99 Tehd &, dfoh v & 1 <1 < S § off wfoegat
Tehd & | 361 TR, g SR H IcTied g3l % A € @UGER % qHE 3
AT o TR ScuTed o I farehedl w1 foream gian ? |

HId C — ATEaETd Ayeteniur o g dad

fora 5o aul #, 98 ANRET 3R FEeAl & gfaffe=i 4 fova =R w@we %
SR SR e & geiferd wewagel o w1 wenfea fomn 8 | a8 vefia e 3
fop Sar +ft =T JveteRtur < FEY § weEwqul fHeRt T Hehd! § |
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27. Describe the elements of Belgian model for accommodating diversities. 3
OR

Describe the horizontal power sharing arrangements. 3

28. Suggest any three ways to improve the condition of the public sector at
grassroot level. Ix3=3

SECTION C

29. Read the sources given below and answer the questions related to

them : 1+2+2=5

Source A - Globalisation and the Indian economy

As consumers in today’s world, some of us have a wide choice of goods
and services before us. The latest models of digital cameras, mobile
phones and televisions made by the leading manufacturers of the world
are within our reach. Every season, new models of automobiles can be
seen on Indian roads.

Source B - Foreign trade and integration of markets

Foreign trade creates an opportunity for the producers to reach beyond
the domestic markets, i.e., markets of their own countries. Producers can
sell their produce not only in markets located within the country but can
also compete in markets located in other countries of the world.
Similarly, for the buyers, import of goods produced in another country is
one way of expanding the choice of goods beyond what is domestically
produced.

Source C — The struggle for fair globalisation

In the past few years, massive campaigns and representation by people’s
organisations have influenced important decisions relating to trade and
investments at the WTO. This has demonstrated that people also can
play an important role in the struggle for fair globalisation.

32153 it P.T.O.



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

The Learning App

30.

31.

32.

33.

34.

35.

321513 Ehipeiitissema

%ﬁ
(29.1) ETA A — SYATRITT R ARATT ALdTaEqT
ITATRTTT Rl N IUHRRIST R Hy fe@mE Jgar g 2
(29.2) &a B — faeslt samaR iR START 1 Tehientor
forgeft =TI SR 1 T8 SRR Tehishd LAl § ? T8 I |
(29.3) EId C — =ATIETa Jyateriur & foru vy
ARETA AvThl & 99 H AN Y HEaqul fHehl HuTd § ? T
s |
A (@ A o oo iy &l Jwifed & aTel Y-3Tehideh 3R 3T
hTTeh! ohl U <hIFT | 5
ST
g UNEE hl el Wedl Sl AU HIT | 5
“Arehca H TSHITS G Toh WUl YHen fwd & 17 sea & gfe e
Tfgq Hifvw | 5
fedta fava ggraw sicieed & sied g8 T 1 fiest sl Tre HIT | 5
srqaT
39 el shi sTEA HifT ek g feifes Fafareti 9 @rqol ARd™ IR ®
el i o YA fohu | 5
“fafira o o foerrE o fofie @& 810 8 17 39 e & T hifsie | 5
“ATehas ATTIERT <hl AT TR TSI Sl dgaiedi g | wH H w@ hivw | 5
ST
“HArehds SgaR TR 24 % ToTu aed Iues § |7 e sl T <hifu | 5
@ ue g
(@ & TH ‘A’ 3R ‘B’ fgu U wRa W TeHifas W-AEEE (I8 19 W) |
3iferd fopu T B | 39 TUMT 1 Fefafigd SRl Al g8 9 yg=e
3 3Tk Tl T 3 e Gidt T8 t@redt w fafay 1x2=2

(A) I% TIH 8 AAE TS hidg H1 1927 H TR 53T o |
(B) 9% T &l AN IMTGie ! fEaT o Rl o § k1 ST |
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(29.1) Source A — Globalisation and the Indian economy
How is the impact of globalisation visible on consumers ?
(29.2) Source B — Foreign trade and integration of markets
How does foreign trade integrate the markets ? Explain.
(29.3) Source C - The struggle for fair globalisation
How do people play an important role in the struggle for fair
globalisation ? Explain.
30. Describe the physical and economic factors that influenced the
distribution pattern of the Indian Railways network. 5
OR
Describe the growing importance of road transport. 5
31. “Political parties play an important role in democracy.” Support the
statement with examples. 5
32. Explain the role of Bretton Woods institutions in post-Second World War
settlement. 5
OR
Explain the ways through which British manufacturers attempted to
take over the Indian market. 5
33. “Different people have different goals of development.” Explain the
statement. 5
34. “Democracy promotes dignity and freedom of the people.” Examine the
statement. 5
OR
“Democracy is best suited to produce better results.” Examine the
statement. 5
SECTION D
35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where the Indian National Congress session was
held in 1927.

(B) The place where the Non-Cooperation Movement ended
abruptly due to violence.

32153 ehiibe e P.T.O.
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(b) 3E feu MU wRa & ueHifaw WEramt ° fefafaa 8 @ et ww
I ITYH gl | gty 3 3k am fafeu Ixd=4
(i) e —agh oo

(i) YU — WFE TFTATS ek
(i) Torers — reT vd gedTd H
(iv) SHIERUIRT — 30 el TI
(v) BNHS — MY
(vi) 3fe Tiieft gamg aee — SIS AT ae

Fig:  FAEkiiad 3o Fac gRaraa qagnaal & o9 397 691 35 F 9 T/

g | fabegt &: g5 & 3 o7l
(35.1) 3;;!?1 &1 9 faflgr Sgf fia f @dt wE 9 fraE 3 gcag
|

(35.2) 39 US¥ o 9 fafau S8 198am 3t i Za & wro = 8
b1 ST |

(35.3) 3H TIW 1 W faIRgu &7 IR TE SO &1 1927 § Al
7T |

(35.4) 38 TSI &1 AW TG 8T gfegan Fq5 9o+ 6@ 7 |

(35.5) 38 TsA 1 AW feAfau S5t qur |ited=r oierst uTeh fEd 7 |

(35.6) 38 USA 1 AW feAfau S|t Sreham sfuaes ot w3 oo 7 |

(35.7) 3 TSH 1 AW faIRaT &l Eps a9y fe3d 7 |

(35.8) YA o T Il I=AUSIT BATS U bl A fARGT | 1x6=6
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(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(i) Haldia — Sea-port

(i1) Pune — Software Technology Park

(ii1) Bhilai — Iron and Steel Plant

(iv) Kakrapara — Nuclear Power Plant

(v) Hirakud — Dam

(vi) Indira Gandhi Airport — International Airport

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 35. Attempt any six questions :

(35.1) Name the State where the Indigo planters organized Satyagraha.

(35.2) Name the State where the Non-Cooperation Movement ended
abruptly due to violence.

(35.3) Name the place where the Indian National Congress session was
held in 1927.

(35.4) Name the State where Haldia sea-port is located.

(35.5) Name the State where Pune Software Technology Park is
located.

(35.6) Name the State where Kakrapara Nuclear Power Plant is
located.

(35.7) Name the State where Hirakud Dam is located.

(35.8) Name the northernmost International Airport of India. 1x6=6
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T H. 35 % foiw For question no. 35

e o - (i)
TR, ey Outline Map of India (Political)
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